©

Naukri Aspirant

©

Mathematics Practice Set Percentage Part -11

=

If 8%0f Xis the same as 4% of y, then 20% of
Xis the same as:

ar X a1 8%, y 3 4% 3wt @ X @
20% e avma” BT
a) 10%of y

b) 16% of y

c) 80%of y
d) 50% of y

A student multiplied a number by ginstead of %

What is the percentage error in the calculation?

wmwwaﬁEZEmgﬁwW%aﬁ

I T H e ufoera @ Ffe Erfi?
a) 44% c) 54%
b) 34% d) 64%

If Xis less than y by 25%then y exceeds X by:
afe x, y ¥ 25% ®rer € y, X 9 fda af¥emer

a) 33%% c) 75%
b) 25% d)66§%

A person who spends 66%%01‘ his‘income is able

to save Rs.1200 per manth. His monthly expenses
(in.Rs.)is:

Th i AT IINHT 66% T e v 1200

ATRTS ATl 8, o1 SHBT ARG W9 (FUd H) T
27

a) 1200
b) 2400

¢) 3000
d) 3200

The income of Cis 20% more then B's and the
income of Bis 25% more than A's.

Carema B & 20% arfdfs 23R B @t ama A 9
25% atfre 8, a1 C @1 3, A ¥ fohawy ufaera

aferd 87
a) 150%
b) 50%

c) 25%
d) 35%

In an examination, there werex2000boys and 800

girls. If 60% of the boys.and\50% of the girls

passed. Find the percentageof the failed
candidates?

v W #1000, eree, e 800 orsfaar wnfiat sl
21 afe 60% ‘@sd @2n 50% wefeal <ot gxfl 2,
ar SOl AT SR%e BTH1 BT iR Sd & |

a)s. 46:4% c) 44.4%

b) <48.4% d) 49.6%

In‘a‘town, the population was 8000. In one year,
male population increased by 10% and female
population increased by 8% but the total
population increased by 9% . The number of
males in the town was:

e weR o siaer 8000 o | e oy H gl @
T 10% e wfgemit @ w9 8% d¢ Wil €,
dife gt st 9% gedl 8, ar weR | gl @
=T T AT?
a) 4000

b) 4500

¢) 5000
d) 6000

If P % of Pis 36, then P is equal to:

e P &1 P%, 36 8 a1 P fhdd svesx 27

a) 3600 c) 60
b) 600 d) 15
2 is what percent of 507
2, 50@7 famr ufaerd 22
a) 2% c) 4%
b) 2.5% d) 5%
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10.

11.

12.

13.

14.

15.

% is what percent of 1 ?

1 2
3 @1 fopeeT uftrerg 3 &2
a) 50%

b) 3310
3

¢) 150%
d) 200%

When 75% of number is added to 75, the result is
the same number. Find the number:
foodt e & # 75% 9 Sirer 75 irer ®, uRRomH
JET AT AT &, AT AT AT P e

a) 225 c) 300

b) 270 d) 325
The different of two numbers is 20% of the larger
number. If the smaller number is 20, the larger
number is:
Q1 ARl & iR g W &1 20% 7| If s
e g 20, A 99 6T ST He?

a) 25 c) 50
by 45 d) 80
If A'sincome is 40% less than that of ‘B, how

much percent B's income is more than, that of A ?

ge A @13 B ¥ 40% w9 g ar B, dhema A
3§ fpaq ufoera ofde 287

a) 60% C) 66.66%
b) 40% d),33.33%
What percent decrease in salaries would exactly

cancel out the 20 percent increase?

94 ¥ frd@iaera @ & 20% gfg a1 gamafs R
<

a) 20% ¢) 3310
3
b) 16%% d) 18%
If 10% of m is the same as 20% of n, then m:n

is equal to:

16.

17.

18.

19.

20.

21.

gfy M 5 10% n 5 20% 3 ez 2 o M:N
BT A FAT BI?
a) 2:1
b) 1:2

c) 1:10
d) 1:20

The ratio 5:4expressed as a percent equals:
5:43 argurd &1 ufoerd § favaer fordr e
a) 125% c) 40%

b) 80% d) 2:5%

In an examination 70% of the candidates passed in
English, 80% passed in.Mathematics. 10% failed
in both the subjects if.444 candidates passed in
both, the total number of candidates was:

v wRier @ 70% ufoarh il # 80% wfereh

T & Feeea 21 10% witarf <=1 vt |
rgheh Blhe | afs 144 ufoarh <41 fawal # 9wer g
2, ah g @ go der Far e

a) 125 c) 240

b) 200 d) 375

If 15% of (A+B)=25%of (A—B), then what
percent of Bisequalto A?

AP SRR BATT?
a) 10% c) 200%
b) 60% d) 400%

What is 20% of 25% of 3007?
3004 25% < 20% fpaer Brme
a) 150 c) 45
b) 60 d) 15

If x% of %is 150, then the value of Xis:

gfe % w7 X%, 150 8 ar X &1 A5 ST He?
a) 1000 c) 1400
b) 1200 d) 1500

If 50%of P=25%o0f Q. Then P=x%of Q.
Find x?
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afs P @1 50%=Q @1 25% & ar P=Q @1 x%
2, A1 X @ AT S BR?

a) 05 c) 50

b) 2 d) 0.005

22. If 20% of A=50% of B, then what percent of A
is B?
afe A &1 20% =B &1 50% & ar A &1 faer
gfoerd B &7
a) 30%
b) 40%

c) 25%
d) 15%

23. Two numbers are respectively 20% and 50%of a
third number. What percent is the first number of
the second?

31 ] R d@n @ waer 20% T 50% ®, dr
Ugell WA O R BT fhar ufcrera 87

a) 10% c) 30%

b) 20% d) 40%

24. 18% of which number is equal to 12% of 752
foa der &1 18%, 75 & 12% & a_1ER B2

a) 50 c) 2
b) 100 d) g

25. In an alloy there is 12% of copper, to get 69kg of

copper, how much alley will be required?
ue fAgreng 9 12%, dtene, aF 69 feun dfer e &

fou fam Msefigidh srova grfi?
a) 424kg c) 828kg
b) 575kg d) 1736% kg
Solution —
1. (a) According to the question FFT7aR),
8 4
=>—X=——Y
100 100
=2X=Y

—x=2
2

— 20%o0f x=-22x Y Y
1002 " 10

Required (@fire) % :%xloo —10%of y.

2. (d) Let the required number_(&rm, f sifise

) =15 @ vt # w4 <=idfraction @
denomination(&R)&r LCM @& ! A9 od &
| I 1 =1 7o B e)

According to the question (TFTI4aR),

Wrong answer ({erd 3<iv) = g x15=9

Correct.answer (@& SwR) = §x15 =25

Requited % error (aifise %0 {e)
(25-9) %100 = = %100 = 64%
25 25
Alternate @afeus fafd):
Let the number #rFT @7 | = X
According to the question FFTIAR)

Wrong answer (fTad S<R) = g X

Correct answer (g1 IR) = g X

5,3,
Required % error (anfre %ﬂ\?rr)=35—5><100
— X
3
16X 3 x100
15 5

Required % error @rir % a) =64%
3. (a) According to the question (FF=TI4aR),
X y
75 100
+25
. 25 1
Required % (3ri< % ) = 7—5><100 = 335%

4 ()  6620=2
37 3
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7.

Let the income of the person = 3units
AT 6 afed @ s = 39fe
Expenditure = 2 units (gfe)
Savings (a=) = (3—2) = Lunit gfre)
According to the question uzgaR,
1unit (gfe)= Rs.1200
2 units (gfe) = 2x1200 = Rs.2400

1 1

(b) 20% ==,25% =~
5 4
Case (i)
B : C
Ratio of salaries (aa=f &1 3rgum)
5 . 6
Case (i)
A . B
Ratio of salaries (aa=f &1 3rgum)
4 : 5
From, case (i) & (if)
A : B : C
Ratio of salaries
4 : S5 : 6

+2

Required answer (3Mie STR) = %xlOO =50%

(c)

Passed boys (&<t sga) =60%

Failed boys (sr3=iw,ctes) =(100 — 60)% = 40%
Failed girls (sfiiel @sarar) = (100 —50)% = 40

Failed hoys @xiivt <rs) =1000 x % =400

Failed girls (arg<iol ersaml) = 800x%400

Required % failed Candidates (it faenfSiar w1

anfre %)

_ 400+400 50 _ 800 100=44.44%
1000 +800 1800

(a)

10.

11.

12,

Note : In such type of questions use allegation

method tosave your valuable time.
Ale: 39 ORE ® UL A 99T & 99d & g 3y fHsor
oI &1 9aNT R Hhd 2 |

Male Female
10% 8%

Ratio of Male and Female
Y ToAT AT AUl
Required numberof Males (q&ut &1 snfie wwen

= (foi) x1= 4000
_|_

1

(c)
According to the question @eATIaR),
P x L =36

100

= P? =3600 = P60
(c) Required % = —x100 = 4%

(d) Required % == x100 = 200%

wirlwin v

3

c 75% = —
(c) 0 2

Let the number #FT &1 wwam) = 4X
According to the question (I TgaR

:>4x><%+75:4x

= 3X+75=4x

X=75
Required number @rie @@ =4X =4x75=300
(a) Let the larger number (AT &1 91 =)
=5X
Smaller number = 20[Given] (feam 2)

According to the question (ITgam),
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13.

14.

15.

=5x-20= E =5x
100
=5x-20=x
=4x=20
x=5
Hence, larger number @S | 5x5 =25
(c)

Required answer (3 &) 40

=— —~ %100
(100—40)

_ 40100 = 66%
60

Note: For detailed solution follow the earlier given
important note.

dre: fR # a1 & foy ugeld Ry U Aoyl A &7
X |

Alternate (d&feaas fafdr): 40% :é

A : B
3 5
+2

Required % (Eie % )= %xlOO = 66.66%
(b)

Required answer @< ITR)

20 100-162%
(100+20 3
Alternate (dofous faf):
Initial Salary Final Salary
5 6
\\/‘ .
1
20% ==
(20% 5)

Required % @rfre %0)= %xlOO :162%

(a)
According to the question

(FATTER),

10 20
———xm=——xn
100 100
m_20_2

n 10 1
m:n=2:1

16. (a)

Required %0 (erfre %)= % x100=125%

a:b:in%:>§><100
Always write b

17. (c)

Failed candidates in‘English = (100—70) =30%
(6T igerTeinl. o) = (100—70) = 30%

Failed candidates in Mathematics

= (100 —80) = 20%

(@, & argeiet w) = (100—80) = 20%)

English Mathematics

I Venn diagram of failed students I

Percentage of passed students in both subject (Mt
fawat # <ot o= @1 gfier)

=100—(20+10+10) = 60%

According to the question (I Tgam),

60% of students =144

144
Total students (&« B 100% = EXlOO =240

15 25
—(A+B)=—(A-B
100( ) 100( )

—=15A+15B =25A—-25B
=10A=40B

= A=4B

Required % (@< %)

_A100=2B 100 = 400%
B B

18. (d)
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19. (d) Required answer (3rie 3<R)
11

= 300 X—X—= 15
4 5 ;
20. (b) B, X _ 150 25.(b) 12%= >
2 100 ]
opper Total Alloy
X=150X20021200 3 !
21. (c) 50P =25Q #23 j. 23
2P - Q 69kg
Then, P = ﬁx 2P Hence required quantity of alloy (Fsmerng @
x =50 arfree A =675kg
2 () 20A_S0B
100 100

2A=5B= A= g B
Required % (@M< %)
_ B 100= 2B 100 = 20%
A 5B
23. (d) Let the 111" number is 100
A7 fb Ry = 100

According to the equation
I I I

20 50 : 100

Required % (Er<a%)

= Qxloo =40%
50

24. (a) Let the.number = X
(T & s = X
According to the question (I TIaR),

18 12
XX —— = —X
100 100
=18x=12x75
o 12x75 _50
18
Hence, required number (@ri< @)

=50
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